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47   2 1 fact that fact that 

71 3.2.2.1  3 8-9 
The carrying capacity for the environment in this 

example is reached when the popula�on is 
approximately one half the carrying capacity its 

maximum density at its maximum density. 
91  4.1 3 1 A�er the flower head thistles weevils 

121 5.2.1  2 11-
12 

The same is true for primary secondary consumers 
feeding on herbivores (primary consumers), and 

for secondary ter�ary consumers feeding on 
primary secondary consumers. 

163  6.8 3  females, except the queen, possess only one set of 
chromosomes.) 

164  6.8 1 8 a person male who inherits a recessive allele for 
colorblindness 

 


